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That grew on their own — JORORR Yorw

OVERVIEW

The Xn>72 teaches that grasses which grew on their own and covered the windows
they (among other things) can reduce the opening of the window,' so that the R0
will not extend through the window. mo0In reconciles our X723 with seemingly
contradictory N7,

n1voIN asks:
= ('nmwnn pas) MINN NIDNA 1IN XN NIV POYNN TNIN NN

It is astounding! How can the grass diminish the 19w opening of the window, for

the mawn» in M98 noon teaches -
= Y2999 179290191 MPIPN DIPITN 3PN NI 2PN%210 NY IYIN

‘These items cannot bring 78mv and cannot protect from 7X»10; plants and

vegetables which are attached to the ground -
= PENIN PRIT 49599 13127 173N WP 1MIY MPIN 11 N

Except for the vegetables that have been enumerated’; meaning those
vegetables that were enumerated previously, which can bring 7xmv and

protect from nxmw, which are -
= 51939 NYHT N MP DOIPM 599NN

The iris and the ivy and a squirting cucumber, and a Greek gourd -
= PASINT JAYIND 1YYY PAVYYT 23N 2997 19 ON)

So therefore the question is how can the Xn»92 teach that (even attached)

grasses which grew on their own can be Y31, when the mwn explicitly states that
anything which is attached to the ground is not (X°2» and not) yx117?!

mMo0IN answers:

!In order to transmit 780 from a room to outside the room we require that the opening of the window be a nov nn
(a square 19v); these grasses cover part of the window (which was a 1190 n1n19), so that now since there is less than a
nov M1, the AXMY cannot extend through this opening.
2 [axm077 NX] 7X°2n X2 means that if there is an attached plant which is covering a corpse and utensils, the plant is not
considered to be an 277x% and does not bring the n&mw from the n» to the utensils. If however the plant would not be
attached to the ground it would be considered an 7R, and the 2°3 would become Rnv.
3 [Axmivn *302] PYXIN X2 means if there is a N2 and the attached mp™ are covering the n» and there are 2°%> on top of
the NP, the Mp° do not protect the utensils, and the 073 become &nv since they are °nx» on the nn. If however the
mp7 were detached (and there was a nov mmd between the n»n and the detached mp7%), anything on top of the mp~
would remain 7, for the Mmp7° would be yxm.
4R mwn ow.
5 The translator is indebted to Sefaria for the translations on this line.
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- NIV 2392 YINY YN PYYI PRT YN 199 59K ONHT 0N 19239 NP
And the n''9 answered that there in the 710» we are discussing regarding an

bx, that attached plants cannot become an ®78 to protect from 782 -
- 7NV NXANY IN C0NITIVY IN DIINNY NN DY

On whatever is below them or above them, or that attached plants cannot bring

the X2, the reason is -
= IAN DYPNII T199Y 1N 12VIN MY 291

Because the wind blows it about and it does not remain in one place -
= N2 NP \$IN XD 1IRY NN GIYT NINIIYT 1)

So it is like a flying bird which is not Y%7 and not X°2%; however here the function
of the grass is not to be y¥117 on what is above or below the n», but only to diminish the size of
the opening, for that purpose even attached grass is sufficient —

nvoIN asks:
= NN XYY D2aWya XY 5119910 13992 XD POYNIY NP1 XINT PN 13939 NYPN

The >''1 asked that in the entire X923 here we do not require smearing, neither
regarding grasses, nor regarding the barrel; we know this -
= NINN 7NN NN HIYY 7994
For the X713 previously asked, ‘it (the barrel) itself should be Y37’ -
- 10,9958 ©Y9AY MNNDI NAPAIY NXAN 291 NIT N (4,07 97 809 x32) NP I193112)
However, 827 said in X72p Y127 79, ‘a barrel which was pierced and the

sediment closed it up, this closure by the 01w saved the barrel from being 2apn
R, for the sediment seals the hole completely; if however -

- PIISN I NPY 1Y NI PP
He stuffed up the hole with a twig it is not considered sealed off, until he smears

along the sides of the twig with mud or some paste so the seal will be tight. So why here do

we not also require that it must be tightly sealed off?!!!

N1B0IN answers:
19900 9% S¥a NY XD YN M9 7598 99N 95N 1918 97 1¥a 125993 onnt Y U

¢ See footnote # 3.
7 See footnote # 2.
8 This means smearing a type of sealant to make sure the closure is tight.
° The X7n3 asks that the barrel by itself (without anything else) should be y¥w1. We know that it is highly unlikely
(almost impossible) that the barrel fills up the entire window, without leaving over some open spaces; nevertheless
the X723 feels that this is sufficient and no smearing of a sealant is required.
10°At the conclusion of the M2 it will become clear what this saving means.
' See ‘Thinking it over’ # 2.
12 The 1"an Mt amends this to read, 13°¥2 ani (instead of 1°va Y922 ann).
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And one can say that there we require that it be surrounded by a »np 7,1
therefore smearing is required, however here (to diminish the size of the
opening)'* we do not require a ?°np 7oy,

SUMMARY

Attached plants cannot be an 27X (to bring or protect from R21), however they are
effective in diminishing the size of an opening. A 2°nd 7°nX is required to save from
97X NXMIY; however it is unnecessary when diminishing the 1191 size of an opening.

THINKING IT OVER
1. How can we understand the difference between the X1"»X i of Mmoo first
question (regarding ¥pp? 1211) and MooIN answer?!?

2. How are we to understand Mmoo second question (regarding mn);!' it is
obvious that concerning diminishing the size of a 75v we do not need to close off
the entire 19v just to make the opening less than a mdv, so what is NvVOIN

question?!!’

13 The P09 is 10,0 (NPM) 72772 states regarding vessels that are found in the n»7 97X that 2702 %% 18 WK 0N *53 59
X377 v 1y, In order for the °%3 or their contents not to become &nv they need to be covered tightly (0o 1%,
means tightly covered). The X713 in "2 is regarding saving the wine in the barrel; for that the barrel must be tightly
closed whether by the sediments or with a twig plugging the hole provided that it is smeared properly so that it is
tightly closed.
14 In our case we are not discussing saving the contents of the barrel from becoming Xnv, rather we are using the
barrel to diminish the size of the opening to less than a 1150 so once that is accomplished by the barrel; we have no
concern for the slight opening which is less than a mov. See X"wamn in footnote # 17 and nwn nona for a clearer
explanation.
15 See HXw nRoON in the mwn in (7"» 7"9) MAR, and mwn NoMa.
16 See footnote # 11.
17 See R"wAn.
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